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COMPUTER SCIENCE

Maximum : 60 Scores
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Cool off time : 15 Minutes

/ General Instructions to Candidates : \

wldeguoemKd:

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your
answers.

Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. The number (158),, can be
represented in Hexadecimal

number system as ........... (1)

2. a) Write the following memory
devices in the order of their
speed.

(fastest to slowest order)

1) Cache

i1) RAM

111) Hard Disk

1v) Registers o))

b) What do you mean by

Freeware and Shareware? 1)

3. Pick the odd one out and give a

reason for your finding: (1)

(158),, ag)om QLI
£a0BMIOANIAE MU lauEscd

................... ag)am avgallafleeyom;.

a) ®o6Y m@ldlenym eanond

@m0 8 BUNOWYOS
@oslaunom e @ (B> O] @D
Q) LA

(6u® dyslwal@ mlonio
H0MDHAUQIICRILNEE (HHODTI@)
1) Cache
i1) RAM
111) Hard Disk
iv) Registers

b) (bdlouwd (Freeware)
ov@deoiwd (Shareware)
ag)MIQUOE-06ME MIETBUW ag)amo6Ny

8CRUTIHHIM®?

QUM ®R0Q® @106 6MDSIOD

#006mMo ANvdE]ex@186))E.
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4.

a) Name the type of loop which
can be used to ensure that the
body of the loop will surely

be executed at least once.

b) Consider the code given

below and predict the

output.
for (int i=1;i<=9;i=i+2)
{
i f(i==5) continue;
cout <<ij <<" "

}
Find the value of score [4] based

on the following declaration

statement.

int score [5] = {98, 87, 92, 79, 85};

Name the built-in function to
check whether a character is

alphanumeric or not.

a) Different networks with

different protocols are

connected by a device

1) Router
i1) Bridge
i11) Switch
iv) Gateway

b) Define Protocol.
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4.

a) eyal ool 80} (ald0lo)
ea%slelo (UIUBEIEM 90
®0M &l ejjaflo@ cald

AlOW)Hs.

b) ®oey alowym code aldlweria]

805a1)3  afMmolalenieamm’

alOW)bs.
for (int i=1;i<=9;i=i+2)
{
i f(i==5) continue;
cout <<j <<" "'
}
oY 6 0SSO 01HM

declaration eg@enm (al8000
score [4] agma@ile® aller agom?
int score [5] = {98, 87, 92, 79, 85};

®M@1HeH30M character
alphanumeric ®eMO @0LEWO
ag)m’ al@16 O W]HeHAI0M

8aleoudlenm built-in anotlaned

Bald alOWd.

a) QOO §(a10C5OBEO8BHSO @D
(e URE®]H630M Qy@yman
OMFUBHNIEOS  eraWlaflosiam
6 IBHOEMMIBNT) ....eoevrcenene
1) Router
1) Bridge
1i1) Switch
iv) Gateway

b) @a10685306H:0B ag)amOeM’ ag)amy’

Mo 8618,
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9.

Find the best matches from the
given definitions for the terms

in the given list.

(Worm, Hacking, Phishing,

Spam)

a) Unsolicited emails sent
indiscriminately.

b) A technical effort to
manipulate the normal
behavior of networked

computer system.

c) A stand alone malware
program usually makes the

data traffic slow.

d) Attempt to acquire
information like usernames
and passwords by posing as

the original website.

e) Appear to be a wuseful
software but will do damage

like deleting necessary files.

Represent - 38 in 2's

complement form.
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TLOBBLM B Yo,

M JaH SO0 0M8 8

c) mowonem molwlea @YW
almlo@o  amm@IIRI0EM
om0l mlaimlela ;88

Hal(BUBIBWOW G(ald(0.

d) esgleoe aglee @wodma eatent
OOMRIGHOS BOMI:O]2] @IV
om®lo, aldom el @isens]
(V]8>0 alloemB W
B20aHGlHOHIMEBE ®Sla] ¢ymo.

e) ojalemlelo (audemmemlalo
9alEWOW (alBeMy e®IMilafla]
@YUMDY a0QERB:D MUBlaleanm
® Galoras Qflmowto QIIEBTIM

(ElggilelfaataleT oG

— 38 agm aller 2's complement
QlEwlEd o flallees.
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10.

11.

12.

Write an alogorithm to print the
numbers upto 100 in reverse
order. That is the output should
be as 100, 99, 98, 97, ............ 1

OR

Draw a flow chart to check
whether the given number is

positive, negative or zero.

Identify the invalid literals from
the following and write a reason

for each :
a) 2E3.5
b) "9"

¢) 'hello’
d) 55450

The following C++ code segment
1s a part of a program written by
Smitha to find the average of 3
numbers.

int a,b,c;

fl oat avg;

Ci n>>a>>p>>c;

avg=(atb+c)/ 3;

cout <<avg;

What will be the output if she
inputs 1, 4 and 5? How can you

correct 1t?
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11.

12,

100 AUNOWI8S M o6LY BB
@QUBOIa06M  (BHOEWI@ (ol
6219 M®IMBE @O BN IR Mo
Q)P YBBs.
evgang 100, 99, 98, 97, ........... 1
ag)(m’ @oQfldleeemo.

[ YTE R

®mMIBIHHIM  qvoady Balomilglal
@EEMO HMWFIQl @OEEMO al)eRyo
@@EEMO  ag)M al@lBLOWlHeIM

aslmee flow chart aloeew.

®OOY OB ISIEMIM]H6 M @@
o®R0W elgoe&H®@  HEe SO

@O BHOVEMEDLYEDs.
a) 2E3.5

b) "9"

¢) 'hello’

d) 55450

DO QUGN ®  VoeydWD eDMal)S
£21QuAUOM0 BOAUWIOS (0O WOE]
#6n3) allslenmMaiimio ealensl minllm
ag9iol C++ eauaenddieaoen moy
®MIClHHM.

int a,b,c;

fl oat avg;

ci n>>a>>b>>c;

avg=(atb+c)/ 3;

cout <<avg;
1, 4, 5 agaml afleid® dalys
£21Q®IM g MOWIdlone B9ZalS
@0 ©)

eI1&1 06 s ? ag)emsem

AIQOH0?
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13. Suppose M[5] [5] is a 2D array
that contains the elements of a
square matrix. Write C++

statements to find the sum of the

diagonal elements.

14. What is the advantage of using

get s() function in C++ program
to input string data? Explain

with an example.

15. Read the function definition
given below. Predict the output,
if the function is called as

convert (7);
voi d convert (int n)
{
i f(n>1)
convert(n/ 2);

cout <<n%;

}

16. Compare any three features of

five generations of computers.
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13. M[5] [5] agom 2D @oeo@ e,
MO o0 (Sle: MIeal Vo6 w: W
96NBMITlE663, BOBOHLI WQUWEMED

Qg)RIODMPIHIOS @I B06MIM @]

mea C++ eauaenmdie-08eimde:.

14. aviglod enadals eaigymala C++
elalo(moalad get s() anoUaum
9alEWOMIHNIM @] OB}
002000 ? HBIAOMMN WOl

QloBROH6)1E-.

15. ®oey @mMIdleaim  anowYaum
wldaualmo aloleess. convert (7);
ag)m aflglojo@ elEleanim 695alSg
2g) MOl LOODMT aIOW)ds.

voi d convert (i nt n)
{
i f(n>1)
convert(n/2);

cout <<n%;

}

16. ool @meImOBEO! BoalySOisees
ApO®mBLILIZo MMM (Al B@Yd:> @ D

®oBl@ @OOMDYo 6).010))d.
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17.

18.

19.

20.

21.

22.

Draw the logic circuit for the

Boolean expression :
(A +B_C)+E,

OR

Using algebraic method, prove

that Y.Z+Y.Z+Y.Z+Y =1

"It is better to give proper
documentation within the

program". Give a reason.

Briefly explain the three
components in the structure of

a C++ program.

Write an algorithm for arranging
elements of an array in
ascending order using bubble

sort.

Explain the difference between
call-by-value method and call-by-
reference method with the help

of examples.

Compare any three types of
networks based on span of

geographical area.
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17.

18.

19.

20.

21.

22.

(A+BC)+AB g englod
Qg MalaO@ GRIOZE: MABYS

QUOBED:.
[ YTE R

@ D2 (oo ol @

OO 56

Y.Z+Y.Z+Y.Z+Y =1
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23.

24.

25.

Susheel's email id is

susheel@gmail.com. He sends an

email to Rani whose email id is

rani@yahoo.com. How is the

mail sent from Susheel's

computer to Rani's computer?

With the help of a block diagram,
explain the functional units of a

computer.

Write a program to check
whether the given number is

palindrome or not

OR
Write a program to print the
leap years between 2000 and
3000.
(A century year is leap year only
if it is divided by 400 and a
noncentury year is leap year only

if it is divided by 4).

3)

(5)

(5)

(5)

23.

24.

25.

ayutlele -6 0@ id

susheel@gmail.com ag)oMyo

rani@yahoo.com

006MIWIBS®
ag)(Mio @M. MVIUBIRIeNR droalysalmd
Mmoo 80) -0l 0oemles’
@0 W2 0@ @@ 0oemlWes
@0 lySol@d  ag)@mleajoyma@lmlswicd

MSHNM  (IQAUAGDMETBRD ) LI,

80)  &oalyl30lOM  an6Eauem®d

@emigudd  ce6u0  ofl(@omle

MaOWEA®IOS ANOIGIEEH:.

®mladleeim aoely palindrome

@Eema @@Ll

o)
al@180oWleHIM@IMI8s C++

program og)eimids.
@6)2) 551

2000 mgo 3000 myo esSHI8E
@olaidanemsd (Leap years) (ol
ealgumalmigs C++ program
Q) PIOI.

(century e@ogjemgld 400 ee:0ens
alydepoo]  a0@lenoM A0
century e:0gjo @goEmal Qg 4
OHO6NE alideMa0Qf aOE1BeOM

a@yo @rdlaudauemsd (Leap years)

@6M).
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